CGLE- Combined Graduate Level Tier-1, 2018 Examination

[Roll No.

Registration

No.

Name

Test Venue Arya Institute of Engineering Technology &
Management

Test Time 10:00 AM -11:00 AM

Test Date 12/06/2019

O e & qmen & T e ¥ wue W Sleal g s

115, ?, 134, 145, 157, 170
Ans X 1.122

X2 127

X3 125
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Question ID : 98958013910
Status : Answered
Chosen Option : 3

Q2 ofy g & 7% gl & @ ¥R 90T W AT A aA AT TE 0T ST w1 Tma S

P

Ans

2

< 3




Question ID : 98958013921
Status : Answered
Chosen Option : 2

Q3 rfafEa gaieor & 3% & & o e o RiEat & WER gger e wiRe?
4x5-24+12+8=14

Ans r }ﬂ'{ x
V2 o+ 3T -
X4- * }ﬂ1'+

Question ID : 98958013915
Status : Answered
Chosen Option : 2

@4 A+ B T A B #wEa Bl

‘A - B FT 37 ‘A, B & o8 &1’

‘A x B @ HY ‘A, B Fr AT B

‘A + B & 3T A B & far &1’

TEV+SxQ-P+T+RxUg a RS H FaT §aer g7
Ans X1 AT

v 2 oy afas

< 3 gig/ AT

X4.‘=I;=ﬂ'

Question ID : 98958013908
Status : Not Answered
Chosen Option : --

QS RrfafEe amefa oer & M e e T ATy F waw fifew

T o AP ?
ol Jo al

Ans




0 L

X 4

Question ID : 98958013917
Status : Answered
Chosen Option : 2

Q.6 Tr=fART 9x vt § ¥ O e B v ¥ vEEAW T o weg AW ¥ HEA e &
T AfEw

Ans xl w
K 2 i
X 3 wm

v 4 =T FEET

Question ID : 98958013902
Status : Answered
Chosen Option : 4

Q.7 ofy TRelt Frerer & ofe # g W@ ¥ A A a e FeeEe Teet & ¥ e v s
ol

A

V:

Ans shEbL
AL
Vi
i
AN
-
Vi




—

a5
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Question ID : 98958013922
Status : Answered
Chosen Option: 3

Q.8 o yoR Tty e & gey T BT ¥ § 3 YoR THEaE AT & g9y T
gl

Ans &1 Ted
< 2 ATATEET
< 3 mHERToT
v EEe

Question ID : 98958013903
Status : Answered
Chosen Option : 1

Q9 TR 9r FE-grA # ¥ &9 35 B TR waae £, #R T g saew §) seEs g
& w0 AT

Ans X 1.7 : 48
v 213 : 170
X35:24
<411 :120

Question ID : 98958013912
Status : Answered
Chosen Option : 2

O zw el F T P TwA A & a$ gy o gg ¥
(3TF FT gA B AT G )

Ans




Question ID : 98958013920
Status : Answered
Chosen Option : 4

N Grrafef@a gaen & wod RE (?) & TUE W SF-07 FR-THE H1T?

FKP, HNT, JQX, LTB, ?
ans o 1 NWF

X 2 NXF

X s NWG

X 4 MWF

Question ID : 98958013907
Status : Answered
Chosen Option : 1

Q12 Gl Reed & ¥ 58 g TIA & 9ua Hiew BwF g weg 398 § 58 T J6n £
B v i B 1w e 7R % @ weg e wEfUE §

e © T

e K1 3Ed : 3uR
X 2 FE TR
X3 de ;@A
viegg: dF

Question ID : 98958013904




Status : Answered
Chosen Option : 3

Q.13 faredr e smor &, PERMANENT &1 EPMRBENTN f3ram =mar &1 361 %e oo & TECHNICAL & &1
orar FTTeT?

Ans 1. ETHCPCILA
v 2 ETHCOCILA
X 3 ETCHOCILA
X+ TEHCOCIAL

Question ID : 98958013905
Status : Answered
Chosen Option : 2

Q1 Gt Eer # 99 RIEd (?) & T 9 HIa-01 HEW HT?

X, B2 LF.D &
Ans X1 Q

<2 N

X350

viM

Question ID : 98958013899
Status : Answered
Chosen Option : 4

P e T T Reedt & ¥ Fd W@ & T9 R

45 57 7
Ans  of 1. 55

X 2 54

X 3 53

X 4 52

Question ID : 98958013914
Status : Not Answered
Chosen Option : --

Q.16




fFoflT U=l &1 UF difes Td HIUUT FF A Fiedd Sav|
1. 9@
2. &
3. fashar
4. fER
5. Sferge
6. UTSF
Ans X1 4, 1, 3,
x4 1 2
s 4 1, 2
K44 1, 2,

.

D W o o’
w o ;oo
oo W N

(5

Question ID : 98958013900
Status : Answered
Chosen Option : 2

A Ru e Reedt & @ ocd FE # 99a e
11 17 8
16 36 4

15 23 2
Ans X111
X212
X3 14
v 410

Question ID : 98958013913
Status : Not Answered
Chosen Option : --

Q.18 s & ory #r & ey Tufaat @ o mar ¥ §=r 2 F Rl woe W S 5e s

306

Ans




X443

Question ID : 98958013919
Status : Answered
Chosen Option: 3

Q.19 &= R aiw 3 3@ &, g7 i@ @ sfafEfes war 8, B Fematewr @ sfafftes s
t 3k s smEeR et W sRAfieT st &1 s & & o @eEe 3@ Ao Rftee & et
#r T # e w=ar

16

/ 19 17 \
20

Toraer ST ST a7 § i ASRAAT e Jd 87

Ans X119
X217
Vs 22
X4 8

Question ID : 98958013923
Status : Not Answered
Chosen Option : --

Q.20 37 fawew w1 T FfET A1 EE FE F S TR GET § O TN vEel EEr gEl HEw @
et §

9 : 80 1R 2
Ans X1 150
X< 2160
v': 156
X 4152

Question ID : 98958013911
Status : Answered
Chosen Option : 3

Q.21 fgdr 3z oo #, YOGHURT 1 251578211820 foram = §1 38 & s7wr & DEVELOP & 7 formn
STCET?

Ans 1. 45225121515
X 2 45225111516
v 2 45225121516
X 4 45215121516

Question ID : 98958013906
Status : Answered
Chosen Option : 3




Q.22 #F g Fua 2w oiv ¥ 3k 3uF T T |, ||3h|||%¢m§|mqa$rm#mmaa“§v,a?

Ans

IE AT, AT T ¥ BT 99T 2 2, A9 o7 e s & R o suet @ e
oy FHETS w9 F wear ¥

A

i 5, 52
o A, T8 ¢
o=

|. & T8, 52 g
Il 5 52, 37 |
Il @i 83, 37 &

X1 Faa Ty | 3k 1 e §
v 2 Fae Ty | et 1| TEeT F
X 3 Fae TRy 1| 3 I FFaa &
X ey |, 1 3R N (T Teaa 7

Question ID : 98958013909

Status : Answered

Chosen Option : 2

B e & o st & R R B2

Ans

X117
X218
V519
x4 20

Question ID : 98958013918
Status : Answered
Chosen Option : 3

Q.24 Fremer 3T AW H THAT G F AT 70 T F) 5 I 73 Frener F g AW S g T e

Ans

off| A T g TR 32

X110 I
X2 45 F§
X320 a¥
v 25 ¥

Question ID : 98958013916

Status : Not Answered




l Chosen Option : --

Q.25 GrAfefe Tw-3eR TE § ¥ 99 3eT-ang 5 R @ A § AR o seEE §1 seas
HaTT-FHE F TAT HfC

Ans X 1. UVYCH
X 2 PQTXC
v 2 JKNRV
X 4 GHKOT

Question ID : 98958013901
Status : Answered
Chosen Option: 3

Section : General Awareness

Q.1 %21 (Dashain) T Y Vg AR &l
Ans X" 1. sficier

K 2w

o 3. 3o

75 4. sfeme

Question ID : 98958014499
Status : Not Answered
Chosen Option : --

Q.2 uyw fvft fhdhe & fFT YR TeiaTST A GIUUH TR B Sah Tg?
Ans X" 1 foRre sigeht

75 2. ghter MR

/X 3. TR dgerax

o 4. Rt

Question ID : 98958014519
Status : Answered
Chosen Option : 2

Q.3 flesle uker # wiF-a1 uHa E= Hieg giar 82
Ans X" 1 grsgiaeiie TRe

W 2 S FETe

/X 3. &fRmam e

75 4. QT Gehrge Tethe

Question ID : 98958014504
Status : Answered
Chosen Option : 2

Q.4 #in A 3R syl A gf o1 S Riwa uR ar wama uSm?
Ans  off 1. wiger ge e SO
75 2. ot e A gf gt at ot fikrae gt




/< 3. sigert e # gy gift
K 4. e e R

Question ID : 98958014501
Status : Answered
Chosen Option : 1

Q.5 ffa fay gg & ke, Fifgar ok Swe Y areTé fohe adf 7 @1t i€ ofi?
Ans  of 1 1044

X 21943

/X 3.1942

/X 4.1945

Question ID : 98958014511
Status : Not Answered
Chosen Option : --

Q.6 ____ o aififer 'Sevriere gufiie @' & w0 & wunfua faram man @1
Ans X115 SR

o 2. 207

/X 3.23 vt

X 43190

Question ID : 98958014523
Status : Answered
Chosen Option : 2

Q7 AR iR sragedauhd___ g g
Ans JTW

X 2. der

K 3om

X s

Question ID : 98958014507
Status : Answered
Chosen Option : 1

Q.8 fr=faf@a & @ swi=-ar du gfar & i @ aad a91 e 87
Ans X 1. g

X 2.3

W 3.

/X 4. iR ()

Question ID : 98958014508
Status : Answered
Chosen Option : 3

Q.9 #ERTE F gad S uda 9ié Frafaf@a § & wi=-d 82

Ans




X1, siomd
o 2 T R
/X 3. AR
X 4w

Question ID : 98958014509
Status : Not Answered
Chosen Option : --

Q.10 Teael ol §3a, 2019 & 156 221 & i WRa 6 ¥k aar A2
Ans  of 1 1404

X 2. 1244

X 31324

X 41374

Question ID : 98958014522
Status : Marked For Review
Chosen Option : 3

Q.11 9Rd & fFa =g d ge<t w6l g7 ff aekar g?
Ans X1 3w

W 2 ToRa
/X 3. sifean

/< 4w

Question ID : 98958014510
Status : Answered
Chosen Option : 2

Q.12 Ysftra oo a1 Iereg 91 | yaie gfg hdror____ g gl
Ans X" 1. 3reE wTe

o 2. ot e
25 3. urufaes wre

X 4 e

Question ID : 98958014502
Status : Answered
Chosen Option : 1

Q.13 f=fafaa # @ fFg wRdg Tsw @ 'qg2ft (Nyishi)' STonfa a1 deer g2
Ans X" 1 dfterrg

o 2. s war

X 3. wfwg

X 4 Rer

Question ID : 98958014500
Status : Not Answered
Chosen Option : --




Q.14 TSRIA & aTaT ST h1 ag s e FF U1, [FTh grR & e, s fRAesh &t g
e mar an?

Ans X1 3w
75 2 afida
75 3. rna
o 4 7ata

Question ID : 98958014514
Status : Answered
Chosen Option : 2

Q.15 I Hech I A1 Fa1syq St et did & fafra v & «ier ugeaman &1
Ans  of 1 wmE

/X 2. e
/X 3. Reaprgm
75 4. TR
Question ID : 98958014506
Status : Answered
Chosen Option : 1
Q.16 H, mRrat gri fafean vt forg g snenamdoT @ wRIST ATHTSA @ SffaE TETE @t

e, fora@ derT Gret-mR1sT g, oft T gel
Ans & 1.1792
X 21811
of 31818
/X 4.1806

Question ID : 98958014512
Status : Not Answered
Chosen Option : --

Q.17 ‘SR e’ 2res forer @1 @ weifa 82
Ans X‘]'%,—d—@ﬁa'

/X 2. Rrdve

W 3 &

X 4l

Question ID : 98958014520
Status : Answered
Chosen Option : 3

Q.18 ¥Td @l R g (FTSURAgoa) &1 7 A1 fasium Iuh! gfE i @igh &=t & oY fohe W a1 i
g

Ans  of 1 FraT
X 2. wea
/X 3. T
75 4. vifda




Question ID : 98958014503
Status : Answered
Chosen Option : 1

Q.19 i A ffdre fstwar @ 22
Ans  off 1 At Al Ao &
X 2 e d e s &
X 3.3eRAAE
25 4.3 7o I @ IR W W T R &

Question ID : 98958014505
Status : Answered
Chosen Option : 1

Q.20 ‘Sfear e Ruteriv 3 g A 37 31eR § eT3H’ Y & A &hiF &2
Ans X1 A

o 2 9w

7% 3. wiE Rig

X 4. TR S sreget derm

Question ID : 98958014515
Status : Not Answered
Chosen Option : --

Q.21 fAafaf@a d & 'uiyer SR’ fF wer strar &2
Ans X1 s

75 2. arog g

X 3 amE

of 4 aEE

Question ID : 98958014517
Status : Answered
Chosen Option : 4

Q.22 _____ ol e # e gwifeR wife ogR (waof wfR) & grgR diedfiavor & forg s simar

2l
Ans x1g?,ﬁqﬁg
o 2. <orsha s
75 3. wa i
/X 4. 7@ Rig

Question ID : 98958014513
Status : Not Answered
Chosen Option : --

Q.23 fFafafea & | fre wrdia fhen-Fafar &t 2011 A fREceRes 7 'Sexdtdha & ey’ & Sufd

& s of?
Ans X1 gu g




K 2.3 R
of 3. au e
75 4 ausie

Question ID : 98958014516
Status : Not Answered
Chosen Option : --

Q.24 &9 situ= gAfde, 2019 | HF-1 YR dsfies R sufasiar w@r?
Ans  off 1 @ oofia

75 2. s sfiehia

X 3. weueeh s

75 4.3 airie

Question ID : 98958014521
Status : Not Answered
Chosen Option : --

Q.25 WRA & GfAuE & F9-§ e | gg wraun= forar man &, 6 uedes Wi wsg # ga asaare
ghm?

Ans  off 1 argede 153
/X 2. agede 151
/< 3. 3ga 152
75 4. 3rgeRe 154

Question ID : 98958014518
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 i &= & 7w § 17% & 3 & o § 3@ P AT 3w F FEa 7% G g w=w
oEaT ¥ A 3 g F e wie # & e gt

Ans X1 8.7%
v'2 85%
X3 8.1%
X 4 8.3%

Question ID : 98958013503
Status : Not Answered
Chosen Option : --

Q.2 g0 feemfdal #r wem #, 40% ==l &) w==t = diwa 9= 62kg A w=fEat = sitwa I9= 55kg
¥ o e = 3ET T9e F4m 2

Ans o 1. 59.2kg
< 2. 58.6kg
< 3. 58.8kg




X 4 58kg

Question ID : 98958013501
Status : Not Answered
Chosen Option : --

Q3 uwx 21 cm 3= ug & B (frustum) & & geaeR Hoe @ B 5 em AT 3 em §1oem® A,

sEF e F 87 (1=
Ans  X1.1020

X< 21058

X 31025

v 41078

Question ID : 98958013509
Status : Not Answered
Chosen Option : --

4 x ¥ 5w A= % T @ 3T G 918761 2, WEA 72 ¥ fyaTew 12

Ans x1~ 2
V23
X35
X7

Question ID : 98958013499
Status : Answered
Chosen Option : 2

Q5  zin44®

T2 4 sin?60° — cos?45° + sec 60° T AT T &

cosdo

Ans . 11

Question ID : 98958013519
Status : Answered
Chosen Option : 2

Q.6 wx IFg F 30% T 15% F FAF G & a1g B47.40 F a7 AT §| W IFG H A qeT Fw L7

Ans 1. 3940
# 2 3900




V'3 7920
X 4 F960

Question ID : 98958013502
Status : Answered
Chosen Option: 3

¥ yfx(@a+b)=63ab=8¢ A (®+b*) =T L
Ans  of 1. 72

X2 108

X3 144

X4 216

Question ID : 98958013510
Status : Answered
Chosen Option : 1

® gfr cos® =2 ¥ ar sin?6cosd + cos?Osind FIET ¥

3
Ans 84
125
82
125
16
25
14
25

Question ID : 98958013518
Status : Answered
Chosen Option : 1

e “ﬁfﬁﬁ}—;:h’i g A X+ T

Ans  of 1. 34

<2 32

<3 36

< 4 64

Question ID : 98958013511
Status : Answered
Chosen Option : 1

Q.10

afE tan46 = cot(40°—26) & ar 0 ST &
Ans x 1. 200




<2 30°
K 3 35°
W 4 25°

Question ID : 98958013517
Status : Answered
Chosen Option : 4

Q.11 Fr=faf@g o & o= s s & Bfes et & Semfiat & gt
Tttt &t gaitar I §

s Frele
A B € D E
raw 25 35 45 28 35
e 35 40 20 42 25
G 40 25 35 30 40
A oW 8,000 10,000 15,000 9,000 11,000

FiersT B & 3remeT v & femfiat & @, ses C F fFaw fvg & faemf@at &
TEAT &7 ST e gfgea 22

Ans  of 1. B9
X< 2 58
X 3 56
X 4 61

Question ID : 98958013522
Status : Not Answered
Chosen Option : --

2 gfra:b=2:3% & (5a—2b): (5a + 2b) W &

Ans - X1 1 :
<2 3:
K32
v

o W

Question ID : 98958013505
Status : Answered
Chosen Option : 4

Q.13 Gr=fafa ot & o= er-3ee e F B Bl & et & afora farea #r g

T
frr Fraw
A B c D E
faeme 25 35 45 28 35
ERIE 35 40 20 42 25
o 40 25 35 30 40
&7 o7 8,000 10,000 15,000 9,000 11,000

TR Tl Ferst & Fo Rt & svwst Fr gea-amew (- 9) F w7 F g 5w
o Fieret E 7 gl Ao e (d9e) 1 AT ST =T gem? (fsmedw g g #)

Ans X 1. ?90
< 2 78°
W 3 75°




X 4 73°

Question ID : 98958013523
Status : Not Answered
Chosen Option : --

Q14 Grafafle e & 9 eeT-37eeT Sest ¥ A Bvdh § et F g e

T gritar T F
G Haw
A B C D E
R 25 35 45 28 35
e 35 40 20 42 25
oo 40 25 35 30 40
9 o 8,000 10,000 15,000 9,000 11,000

Tl Fost & R vy & oo Rt & e go e @2

Ans X 1. 3748
v 2 3724
X 3 3762
X 4 3642

Question ID : 98958013520
Status : Not Answered
Chosen Option : --

Q.15 2 ==t % R 12% Wiy a¥ Fr T F Tx W THIR == AR TuREr TS & A FOHAR T320 F1ox

T Hed w1 87

Ans X 1. 2,800
< 2 2,400
« 3 3,000
< 4 2,500

Question ID : 98958013506
Status : Answered
Chosen Option : 1

1% 384+ (82+41%X2)—4x3+1.2 F AT &

Ans X1 —12
v2-22
X322
X412

Question ID : 98958013500
Status : Answered
Chosen Option : 2

Q17 g =wget & & 9% FT 4,956 F FEw W AW S &1 3 G U IEG R AT FO18% AT g
¥ R gl Iwg W 16% g AW §1 Rekar A g e feae ofoerm wmer st gl gw?

(SUFST o TH T TF)
Ans




v 1.9% Fif
X2 2.1% =TT
X3 2.1% @fer
X 4 1.9% oITe

Question ID : 98958013504
Status : Answered
Chosen Option: 2

Q.18 s4BC #, BC W Pus fig ¥ @@ BP: PC = 2: 3 3R Q g, BP &1 #ew fig &1 o ar(A4BQ)
: ar(AABC) sET &

Ans X 1.1: 4
v21:5
K32:3
K4+2:5

Question ID : 98958013515
Status : Answered
Chosen Option: 1

Q.19 B & goem & A 50% MU 287 ¥ ik C #r g & B 40% FH 247 ¥ TH WA FH = T, ¥
At TR w Fr 20 i F 9U aR Twa {1 C IFen 31 W W 30% A RE § g s

Ans X 1. 35
X2 29
X3 33
v 4 31

Question ID : 98958013507
Status : Not Answered
Chosen Option : --

Q.20 v YenmEr famm TR (T 80 km/h Fr dtwa wify ¥ At v & oww 64 knvh @ st fy
T T g1 Yend, siteae 9fd wer Rrae e st B2

Ans X1 8
V212
X3 14
X 410

Question ID : 98958013508
Status : Not Answered
Chosen Option : --

Q21 ©F Fed Fr & A= (chords) AB 3 CD Ied F 35X Mg P X womg@y ar Frea
g AB = 10 cm, PC = 5 cm 3R AP = 4 cm g, @ CD SR &

Ans X1 6.8 cm
v'?2 98 cm




<3 48 cm
<478 cm

Question ID : 98958013513
Status : Answered
Chosen Option : 1

Q22 gix g+ b+c=63Rab+bc+ca=5 § a a®+b*+c®—3abc sET &
ms X198

< 2108

V'3 126

X4 116

Question ID : 98958013512
Status : Answered
Chosen Option : 3

Q.23 zfy O &g 71 TF god F =TH AB § HR CD =@ =g F1 ST (chord) & fo@ ABCD ®Eeid FaaT
g1 ofg £ BAC = 28° ¥, @ £ CAD foraess stmeaw gem?

Ans X 1. 62°
X 2 28°
V'3 34°
X 4 32°

Question ID : 98958013514
Status : Answered
Chosen Option : 1

Q.24 AT difo & 9= HAT-3eeT Fice=t & e Tt & et & gfeew e

T RT3 F
frwm FeT
A B c D E
fawma 25 35 45 28 35
e 35 40 20 42 25
aftr 40 25 35 30 40
@ o 8,000 10,000 15,000 9,000 11,000
Fo=r A 3 C ¥ fow ot vy F it = gfee fraer 32 (v o e o)
Ans  of 1. 36,7
<2375
<3372
<4 36.9

Question ID : 98958013521
Status : Not Answered
Chosen Option : --

Q.25 AABC~ARQP3IT PQ =10 cm, QR = 12 cm 2T RP = 16 cm g1 I ar(APQR) : ar (A4ABC)
= 2%, & BC forwes awrt @




Ans X1 6 cm
<28 cm

20
W3 =— cm
3
32
54 S com

Question ID : 98958013516
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the word which means the same as the group of words given.

A state of perfect balance
Ans  of 1 equilibrium

X 2. equilateral

x 3. equivalent

X 4. equinox

Question ID : 98958012818
Status : Answered
Chosen Option : 3

Q.2 Given below are four jumbled sentences. Select the option that gives their correct order.

A. So, | had thoughts of setting up an Indian restaurant there with my wife's support.

B. It took us two months to redesign the place to suit our needs.

C.One of the things I really missed when | set up home in Maryland, was a restaurant that
served authentic Indian food.

D.I decided to pursue this idea seriously and bought an old building in the downtown.

Ans  of 1 caDB
75 2.BCDA
/< 3.CBAD
/< 4.DACB

Question ID : 98958012810
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate meaning of the underlined idiom in the given sentence.

Many people join politics to feather their own nest.
Ans X" 1. serve their country

X 2. utilize black money
( 3. promote their own interest

X 4. make others' life comfortable

Question ID : 98958012816
Status : Answered
Chosen Option: 3




Q.4 Select the correct passive form of the given sentence.

Credit cards are replacing cash transactions.

Ans ( 1. Cash transactions are being replaced by credit cards.
X 2. Cash transactions have been replaced by credit cards.
x 3. Cash transactions are replaced by credit cards.

X 4. Cash transactions had been replaced by credit cards.

Question ID : 98958012800
Status : Answered
Chosen Option: 1

Q.5 Select the most appropriate option to fill in the blank.

| sat my life as nothing seemed to be working for me.
Ans x 1. blessing

J 2. cursing
x 3. invoking

X 4. tormenting

Question ID : 98958012822
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate antonym of the given word.

FOREIGN
Ans ( 1. native

x 2. rural
X 3. Indian
x 4. rustic

Question ID : 98958012815
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Ishwarchand Vidyasagar use the ancient text to suggestion that widows could remarry.

Ans J 1. used the ancient texts to suggest
X 2. No improvement
x 3. use the ancient texts for suggestion

X 4. used the ancient texts suggests

Question ID : 98958012803
Status : Answered
Chosen Option : 3

Q.8 Select the correct active form of the given sentence.

We were given very little time to prepare the presentation.
Ans




x 1. They have given us very little time to prepare the presentation.
X 2. They give us very little time to prepare the presentation.
x 3. They will give us very little time to prepare the presentation.

J 4. They gave us very little time to prepare the presentation.

Question ID : 98958012801
Status : Answered
Chosen Option : 4

Ans J 1. out of danger
x 2. out of the forest
x 3. discharged from hospital

x 4. released from prison

Q.9 Select the most appropriate meaning of the underlined idiom in the given sentence.

The man heaved a sigh of relief when he was sure he was out of the woods.

Question ID : 98958012817
Status : Answered
Chosen Option : 1

DEVOUT
Ans ( 1. pious
x 2. revered
x 3. loyal

x 4. respectable

Q.10 Select the most appropriate synonym of the given word.

Question ID : 98958012813
Status : Answered
Chosen Option : 4

Q.11 Select the correctly spelt word.
Ans J 1. proportion

x 2. propotion

x 3. preportion

x 4. proporsion

Question ID : 98958012820
Status : Answered
Chosen Option : 3

Ans X" 1 elevated

J 2. rarefied
x 3. exalted

x 4. intensified

Q.12 Select the most appropriate option to fill in the blank.

The roads at 15000 feet are not easily navigable and the air is

and freezing.




Question ID : 98958012823
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate synonym of the given word.

RENOWN
Ans X" 1 conceit

x 2. wisdom
x 3. obscurity

( 4. fame

Question ID : 98958012812
Status : Answered
Chosen Option : 2

Q.14 Select the correctly spelt word.

Ans  of 1 exhilarate

X 2. exilarate
x 3. exilerate

X 4. exhilerate

Question ID : 98958012821
Status : Answered
Chosen Option: 1

Q.15 In the sentence identify the segment which contains the grammatical error.

Not complying by any of the laws can land you into serious trouble.
Ans x 1. into serious trouble

x 2. any of the laws

x 3. can land you
( 4. Not complying by

Question ID : 98958012799
Status : Answered
Chosen Option : 2

Q.16 Select the word which means the same as the group of words given.

One who walks in sleep
Ans J 1. somnambulist

x 2. philanthropist
x 3. omnipotent
x 4. pedestrian

Question ID : 98958012819
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate option to substitute the underlined segment in the given




sentence. If no substitution is required, select No improvement.

| have not saw him since | last leave the town.
Ans  off 1 seen him since | last left

X 2. No improvement
x 3. see him since | last left

X 4. seen him for | last left

Question ID : 98958012802
Status : Answered
Chosen Option : 4

Q.18 Given below are four jumbled sentences. Select the option that gives their correct order.

A. Lyrics help in creating a distictive narrative, some conventions of which have been
carried over from the talkies era.

B. Thus, songs have outlived films in people’s memories.

C. However, songs seem to have acquired a musical grammar of their own, establishing an
emotional chord with the listeners.

D. In popular Indian cinema, lyrics are to music what the heart is to the body.

Ans " 1 ABCD

/< 2.DCBA
o 3.0ACB
/< 4.ADBC

Question ID : 98958012811
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate antonym of the given word.

ASCENT
Ans « 1. descent

X 2. depression
x 3. distant
X 4. decent

Question ID : 98958012814
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

country.
most English speakers,albeit not as the
than any single Indian language! It has managed to

English is not a language that (1) in India. But it is used extensively in (2)
India comes second on the list of countries (3)
first language. English is more (4)
(5) the entire world.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank No.(1)

Ans X" 1. created

x 2. developed

X 3. derived




( 4. originated

Question ID : 98958012805
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in (2)
India comes second on the list of countries (3)
first language. English is more (4)
(5) the entire world.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.(2)

Ans  of 1 the
X 2.an
x 3.a
X 4.0ne

country.
most English speakers,albeit not as the
than any single Indian language! It has managed to

Question ID : 98958012806
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in (2)
India comes second on the list of countries (3)
first language. English is more (4)
(5) the entire world.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank No.(3)

Ans X" 1 from

x 2. among
X 3. by
o 4 with

country.
most English speakers,albeit not as the
than any single Indian language! It has managed to

Question ID : 98958012807
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in (2)
India comes second on the list of countries (3)
first language. English is more (4)
(5) the entire world.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank No.(4)
Ans ( 1. prevalent

country.
most English speakers,albeit not as the
than any single Indian language! It has managed to

x 2. frequented




X 3. comprehensive
x 4. extended

Question ID : 98958012808
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

English is not a language that (1) in India. But it is used extensively in (2) country.
India comes second on the list of countries (3) most English speakers,albeit not as the
first language. English is more (4) than any single Indian language! It has managed to
(5) the entire world.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank No.(5)

Ans J 1. pervade
x 2. persuade
x 3. invade
x 4. saturate

Question ID : 98958012809
Status : Not Answered
Chosen Option : --

Q.25 In the sentence identify the segment which contains the grammatical error.

Raja Ravi Varma was one of the first artist who tried to create a style that was both modern
and traditional.

Ans J 1. one of the first artist
X 2.to create a style that was
x 3. Raja Ravi Varma was

X 4. both modern and traditional.

Question ID : 98958012798
Status : Not Answered
Chosen Option : --




